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b.5 ¢. 60 d 2 e 4
. Sample answer: To divide by tenths as in

2.4 + 0.6, model 2.4 with tenth blocks, then see

how many groups of 0.6 can be formed. To divide
by hundredths as in 0.3 + 0.06, model 0.3 with

hundredths blocks, then see how many groups of
0.06 can be formed.

4. Answer should include, but is not limited to:

A poem about dividing decimals

5. Answer should include, but is not limited to:

A cartoon about dividing decimals—The poem
from Activity 4 may be used in the cartoon.

2.6 Practice

1.

10.

1.

15.

42)231 2. 15)1287 3. 535)8760
.02 5. 0.53 6. 4.1
.24 8.6.7 9. 0.064

The dividend was not aligned properly. The answer

should be 0.27.

$32.10 12.30.3 13. 5.31 14. 37.2

10.7 16. 3.43 17. 14 18. 27
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19. 18.2
23.34
27. 8400 songs
29. 36.57

Chapter 3
3.1 Activity

1. a.

2.a. 6+2;%3

1. terms: 3, ¢, e

20.3 21. 14.7 22. 30

24. 14 25. 410 26. 51,000
28. 300 sheets of paper

30. 6476.67 31. 7.81

You babysit for 3 hours. You receive $12. What is your

ourly wage¥

Sh X + Yo
$12 I

hourly wage ($ per hour) = $12 + 2h

hourly wage = 12 + 3
=4
So, your hourly wage is $4 per hour.
b. Sample answer: Multiply the hourly wage by the
number of hours worked.
b. 60 — 27 —15; $18
c. 5x3;815 d. 4500 — 2000; 2500 ft
e. 2 x20;40 cm

3. Write the problem. Underline the important

numbers and units. Then circle the key word for the
question. Write an expression that answers the key
word question. Then evaluate the expression.

Sample answer:

Addition: You buy a drink for $2 and a sandwich
for $3. How much did you spend total?
24+3=1%55

Subtraction: You have $20 and you buy a shirt for
$15. How much do you have left? 20 — 15 = $5

Multiplication: You earn $20 per week. How much
money do you earn in 2 weeks? 20 X 2 = $40

Division: You earned $15 by mowing 3 lawns.
How much money did you earn for each lawn?
15+3 =85

3.1 Practice

2. terms: Sm, 9
coefficients: 1, 1 coefficient: 5

constant: 3 constant: 9

Big Ideas Math Grade 6 11
Answers



Student Workbook Answers

3

12.

16.

17

19

20

. terms: 3p?, 7

coefficient: 3

constant: 7

42 5. 10 6.9 7. 100

6 9. 19 10. 4 11. 180

10 13. 13 14. 17 15. 6

3 o 10 = 30 should be done first. So, 30 — 6 = 24.
. $26.00 18. 322 problems
. a. $60.00 b. yes; 24 times $5 is $120.

. a. 78 pages b. no; 2 times 52 is only 104 pages.

3.2 Activity

1

| sanavin | o | Chapas Resived
Reuben 6.45 20 — 6.45
BLT 5.25 20 - 5.25
Egg salad 4.65 20 — 4.65
Roast beef 6.75 20 - 6.75

b. Sample answer: 20 — s; Let s represent the cost
of the sandwich.

c. Sample answer: The expressions in the table in
part (a) are numerical expressions that contain
constants. The expression in part (b) is an
algebraic expression that can be evaluated
repeatedly using different values for s.

d. Sample answer: 4.95 + 2d; The cost of a
chicken salad sandwich is $4.95. You also
ordered 2 side dishes that each cost the same, but
you do not know how much. So, let d represent
the cost of each side dish you ordered. You have
to add 4.95 and 24 to find the total cost.

e. Sample answer: The customer paid using $20.
The variable s represents the number of items
ordered for $4.65 each; no; From the menu
board, the customer ordered grilled cheese
sandwiches and/or egg salad sandwiches.
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2.
a Variable Phrase Expression
4 more than n+4 or
n
a number 4+ n
the difference of a m—3
n number and 3
the sum of a number| x + 8 or
X
and 8 8+ x
10 less than
- 10
p a number p
. n+7 or
n 7 units farther away
7+ n
t 8 minutes sooner t—8
w 12 minutes later w12 or
12 +w
a number increased | ¥ + 9 or
Y by 9 9+ y
b. -8

c. Sample answer: You have 4 more DVDs than
your friend. Your friend has 16 DVDs. How
many DVDs do you have?

3. the product of a number and 3: n e 3
the quotient of 3 and a number: 3 + n
4 times a number: 4p
a number divided by 3: n + 3
twice a number: 2m
4. Sample answer: Use variables to represent any
unknown amounts. To determine the math

operations for the expression, look for key words
or phrases.

3.2 Practice

1. 4+ 60r6+ 4 2. 15-7

m
3.3xor x 3 4.: 5.8por pe8
6. 2xorxe2 7. y—10 8. k-7
9.3+ corc+3 10. 11 - d

11. Twelve less than a number means that you must
subtract 12 from the number x; x — 12

12. 8 more than a number x, or the total of a number x
and 8
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13. 20 decreased by the number #, or n less than 20

14, 5x+12:22 15— L 46 200 475
3+7 y

17. 15 = 4x;7 18. 5 -2

19.a. 3x + 2 or 2 + 3x
b. 3 x12 + 2 or 38 years old

3.3 Activity

1. Order Matters Order Doesn’t Matter
b,c, f a, d, e
Sample answer:
Order Matters: Order Doesn’t Matter:
4+2=2 4+2 =06
2 ad = l 24+4 =6

2 23 =6

2-3=-1 3e2 =6
3-2=1

2.a. 3+5=5+3,9%x3=3%x9
b. Order does not matter;
Commutative Property of Addition:
a+b=>b+a
Commutative Property of Multiplication:
axb=>bxa

3.a.8+(3+1)=(8+3)+1,
12x(6x2) =(12x6)x2
b. Location of grouping symbols
does not matter;
Associative Property of Addition:
(a+b)+c=a+(b+c)
Associative Property of Multiplication:

(axb)Xczax(ch)

4. The order in which you perform addition and
multiplication does not matter. The order in which
you perform subtraction and division does matter.
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5. Sample answer: You can use the Commutative
Property of Addition to reorder the numbers:
11+ 9+ 7 + 13 + 12 + 8. Then you can use the
Associative Property of Addition to group the
numbers and add:
(11+9) + (7 +13) + (12 + 8) = 20 + 20 + 20

= 60.
Because each group of numbers adds to 20, it is
easier to add the sum in your head.

6. a. eis multiplication and * is addition. Because
0 times any number is 0 and 0 added to any
number is the number.

b. Answer should include, but is not limited to:
Students should use symbols other than those
given to represent addition and multiplication.
Students will demonstrate their understanding of
the Commutative and Associative Properties by
writing codes and deciphering the codes of other
students.

3.3 Practice

1. Commutative Property of Addition

2. Addition Property of Zero

3. Commutative Property of Multiplication
4. Associative Property of Multiplication
5. Multiplication Property of One

6. Associative Property of Addition

7. 2+ (a+8) =2+ (8+a) Commutative Property

of Addition

= (2 + g) + a Associative Property
of Addition

=10+ a Add 2 and 8.

8. (2x)e5=5e(2x) Commutative Property

of Multiplication
= (5 . 2) e x Associative Property
of Multiplication
=10x Multiply 5 and 2.

9. 7(4y) = (7 ° 4)y Associative Property
of Multiplication

=28y Multiply 7 and 4.
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10. (0+¢)+12 = (c +0) + 12 Commutative

Property of Addition
= ¢+ (0 +12) Commutative
Property of Addition
=c+12 Addition Property
of Zero

11. (8¢)e1=1e(8¢)  Commutative Property

of Multiplication

= (1 . 8) e ¢ Associative Property
of Multiplication

= 8e Multiplication Property
of One

12. 7exe5=7e(xe5) Associative Property
of Multiplication

=7e (5 . x) Commutative Property
of Multiplication

= (7 . 5) e x Associative Property
of Multiplication

= 35x Multiply 7 and 5.
13. 7+ a 14. 5012

15. (6 +9) + 7 16. (2 05)e7

17. 54 ¢ 1 = 54; Any number times one equals itself.

18. x + y + 20
y+x+ 20

3.4 Activity

1. a. Sample answer:

4 6

b. Sample answer: (3 x 4) + (3 x 6)

c. Sample answer:

4 6

3% (4 +6)

14 Bigldeas Math Grade 6
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d. yes; Both expressions represent the same area.
Sample answer:

(B3x4)+(3x6)=3x(4+6)
12+8 =3x10
30 = 30

e. Answer should include, but is not limited to:
students should repeat the activity using different
rectangles. Students will explain how the
Distributive Property is illustrated and write a

rule such as: You can think of a(b + ¢) as
“distributing” a to b and a to ¢, as shown.

ax(b+c)=(axb)+(axc)=ab+ac

a(b +¢) = ab + ac
2.a. 138 b. 231 c. 423 d. 140 e. 68

3.a. 138 b. 85 c. 208 d. 380 e. 1160
£.975 g. 705

4. Sample answer: The methods are essentially the
same. One method is done vertically and the other
method is done horizontally. The distribution of the
6 is more clear in Activity 3.

5. Sample answer: You use the Distributive Property
and mental math to rewrite a multiplication
problem as the sum or difference of two simpler
products.

30 x 38 = 30 x (40 - 2)
(30 x 40) — (30 x 2)

= 1200 — 60
= 1140
3.4 Practice
1. 115 2. 150 3. 486 4. 413
5.12+3=E 6.%3+l=1z
3 4 12 5 2 5
7. 354+ 2] =21 8. 4x + 24
8 3 8
9. 8¢ — 40 10. 14y + 56
11. 9¢ — 36 12. 24 + 6n

13. 21+ 7x + 28 = 7x + 49
14. 5 must be multiplied by both x and 9; 5x + 45
15. C; You need to add the two activities and then

multiply the sum by 5.
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16. 5(r + 3) = 5 + 15

17. 9w + 54 + 4 = 9w + 58

18. 15+ 5m — 7 = S5m + 8

19. 1lm + 7 20. 5/ -8

21. 1%x 22. 3.1p — 837

23. area: 5(x +2) = 5x + 10
perimeter: 2(5) + 2(x + 2) = 2x + 14

3.4 Extension Practice

1. 2(1+ 4) 2.33-1) 3. 5(6 + 5)
4. 7(5-2) 5. 9(9 - 2) 6. 20(3 + 5)
7.16(2y —3) 8 53y +8) 9. 8(2x+3)
10. 11(x + 3) 11. 13(x + 3)
12. 21(x — 2y) 13.C

14. 2(10x + 50), 4(5x + 25), 5(4x + 20)
10(2x + 10),20(x + 5)

15. (3x + 4) in.
16. The additional cost is $5.

Chapter 4

4.1 Activity
1. a. Check students’ work.
b. The areas are equal; 4 = bh

2. a. A: 66 units?; B: 49 units®; C: 25 units’;
D: 32 units?; E: 18 units?

b. A: 66 units?; B: 49 units?; C: 25 units’;
D: 32 units?; E: 18 units?

The results are the same.

c. Answers may vary. Estimates from counting unit
squares should be close to the answers from parts
(a) and (b).

3. Sample answer: Draw a parallelogram and cut it
along the height. Slide the cut off piece to the other
end to form a rectangle. Then use the area formula
for a rectangle to find the area of the parallelogram.
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4. They are equal. Sample answer: Because their areas
are equal and the length of the rectangle is equal to
the base of the parallelogram, the parallelogram
can be separated and rearranged to make a rectangle
with the same dimensions as the parallelogram.

So, the width of the rectangle must be equal to the
height of the parallelogram.

5. 4 units; Find the perpendicular distance between the
bases of the parallelogram as shown.

The height of this parallelogram is labeled on the
outside of the parallelogram.

o

4.1 Practice

1. 40 m?> 2. 150ft> 3. 99in? 4. 70 m?

5. The side was used instead of the width.
A= 4(4) = 16in.?

6. 2 units? 7. 48 units? 8. 6in.

4.2 Activity
1. a. Check students’ work.

b. Sample answer: The area of one piece is equal to

one-half of the area of the rectangle; 4 = %bh

2. a. Check students’ work.
b. Check students’ work.

c. parallelogram

d 4= %bh; Check students’ work.

3.a.C;C b. F;F c. A;A d. D;D
e.B;B f. G;G g. HH h. E;E

4. Answer should include, but is not limited to:
Students should create their own “triangle matching
game,” then trade games with a partner and solve
each other’s match game.

5. Sample answer: Two identical triangles make a
parallelogram. So the formula for the area is the
formula for the area of a parallelogram divided by 2.

Big Ideas Math Grade 6 15
Answers




<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Gray Gamma 2.2)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.4
  /CompressObjects /Off
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.1000
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails true
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams true
  /MaxSubsetPct 100
  /Optimize false
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Remove
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile (None)
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 150
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages false
  /ColorImageDownsampleType /Average
  /ColorImageResolution 300
  /ColorImageDepth 8
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /FlateEncode
  /AutoFilterColorImages false
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 150
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages false
  /GrayImageDownsampleType /Average
  /GrayImageResolution 300
  /GrayImageDepth 8
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /FlateEncode
  /AutoFilterGrayImages false
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages false
  /MonoImageDownsampleType /Average
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /CreateJDFFile false
  /Description <<
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000410064006f006200650020005000440046002065876863900275284e8e55464e1a65876863768467e5770b548c62535370300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef69069752865bc666e901a554652d965874ef6768467e5770b548c52175370300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /DAN <>
    /DEU <>
    /ESP <>
    /FRA <>
    /ITA (Utilizzare queste impostazioni per creare documenti Adobe PDF adatti per visualizzare e stampare documenti aziendali in modo affidabile. I documenti PDF creati possono essere aperti con Acrobat e Adobe Reader 5.0 e versioni successive.)
    /JPN <>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020be44c988b2c8c2a40020bb38c11cb97c0020c548c815c801c73cb85c0020bcf4ace00020c778c1c4d558b2940020b3700020ac00c7a50020c801d569d55c002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken waarmee zakelijke documenten betrouwbaar kunnen worden weergegeven en afgedrukt. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /PTB <>
    /SUO <>
    /SVE <>
    /ENU (Use these settings to create Adobe PDF documents suitable for reliable viewing and printing of business documents.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice




